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JEK R
= 1 49, 747, 507
B 1
= 1 47, 623, 860
E¥LT
= 1 660, 123
FEARIBA AT L
= 1 17, 561, 180
A 2 Gr-A—4E 4 =)7" 797 100mLh £ il
A 1
m 873 13,123 11, 456, 379
A 2 Gr—-SB-2E ¥ =77 7%
m 24 48, 512 1, 164, 288
=) V= Gr-SB-BJ %" =77 7%
m 27 81, 503 2, 200, 581
J=A V=
T 2 40, 761 81, 522
I EHEfEt —A(L)
T 2 45,135 90, 270
L5 BT AW B 50x220
bie 265 1,218 322, 770
=8 V=g A 1200 AFE HEHERA+5cm 47077 79/
T 5 6,771 33, 855
B =b Vg A L300 AFE HEHER+5cm 47177 79/
T 5 9, 607 48, 035
B =b Vg A L400 AFE FEHER+5em 47177 79/
T 5 12, 405 62, 025
=8 V=g A L500 AFE HEHER+5cm 47177 70/
T 5 15, 203 76,015
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=0 V=g L600 AfE HEHER+5cm 47177 79/

T 5 18, 188 90, 940
B =0 V=g A L700 AFE $EHERA+5em 47177 79/

T 5 20, 986 104, 930
B =0 V=g A L800 AFE HEHER+5cm 47177 79/

T 5 23, 785 118,925
B =0 V=g A L900 AFE HEHERA+5cm 47177 79/

T 5 26, 583 132,915
B =1 V-V ERER L1000 ATE FEHER+5cm ¥ -7 707

T 5 29, 568 147, 840
B =1 V-V ERER L1100 ATE #EHER+5cm ¥ -7 707

T 5 32, 366 161, 830
B =1 V-V ERER L1200 ATE FEHER+5cm ¥ -7 707

T 5 35, 164 175, 820
B =1 V-V ERER L1300 AfE #EHER+5cm ¥ -7 707

T 5 38, 056 190, 280
B =1 V-V ERER L1400 ATE FEHER+5cm ¥ -7 707

T 5 40, 854 204, 270
B =1 V-V ERER L1500 ATE FEHER+5cm ¥ -7 707

T 5 43, 652 218, 260
B =1 V-V ERER L1600 AfE FEHER+5cm ¥ -7 707

T 5 46, 544 232, 720
B =1 V-V ERER L1700 ATE FEHER+5cm ¥ -7 707

T 5 49, 342 246, 710

[ A T

= 1 29, 402, 557
15 FLh

T 466 2, 767 1, 289, 422
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25 T
T 4 8, 321 33, 284
FETET ny ), SR LA SR HEME ¢ 101.6X3.2 L=750
1580 Al
#% 458 4,544 2,081, 152
FETET ny ), SR LA SR HEME ¢ 101.6X3.2 L=700
275 8 FLnE
H 139 4,385 609, 515
A - S (ST B LA FAEMNEL 5m AR R2m
ST B 1A (A)
m 905 8, 891 8, 046, 355
A - S (ST B LA SCREME2mEL T SCFERIRE2 m
ST B 1A (B)
m 26 10, 987 285, 662
A - S (ST B LA SCREME2mEL T SCFERIRE2 m
ST B 1EAT (C)
m 883 15, 875 14, 017, 625
A - S (ST B LA SCREME2mEL T SCFERIRE2 m
ST B 1EAT (D)
m 274 10, 474 2,869, 876
PR JrBH &
FYBE ()
H 2 84, 833 169, 666
TE AT R iRk 1
= 1 1, 819, 944
JEEEATEY T
= 1 1, 819, 944
TR A Jri ¢ 100 B OBUKMEQER b -7
79/ BT 30ALL E
15 RR s AT
ZN 14 9,043 126, 602
TR A Jri ¢ 100 B OBUKMEQER b -7
70 HEEEUS 30ALL 1
2GR AT
ZN 30 17, 349 520, 470
TR A Fi ¢ 100 #5 BUKPEMLER 3" —)7°
70 HEEEUS 30ALL 1
3T IR AT
ZN 28 26, 023 728, 644
TR A FI ¢ 100 #5 BUKPEMLER 3 —)7°
79/ BT 30ALL F
4R AT
A 9 8, 670 78, 030
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| T2 (BB
TR A Fi ¢ 100 fE2B: & BlkMEauE
§=077 9 REERIEUS 304KLL
55 MR AT S
ZN 9 19, 410 174, 690
TR A Fi ¢ 100 fE2B: & BlkMEaue
B =077 90 BEREUST 304KLA
65 AR AT S
ZN 9 14, 849 133, 641
TR A F ¢ 100 HE3E: 45 BlkMEALE
B =077 90 BEREUST 304KLA
T AR A S
ZN 2 19, 606 39, 212
TR A Fi ¢ 100 A53%51 45 BV
B =077 90 BEREUST 304KLA
8T MR AT S
ZN 1 18, 655 18, 655
SHan
= 1 303, 703
ARME T
= 1 303, 703
B TR
= 1 49, 747, 507
I L
= 1 6, 883, 518
IR
= 1 1,521, 129
et By
= 1 964, 277
Bt o I BE D 7= D Ik
Tl BRI
= 1 909, 432
B B REFEAT - HERE
= 1 54, 845
BIGREsET (K30
= 1 556, 852
HIBGERE (FE L)
= 1 5, 362, 389
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
Wi
= 1 56, 631, 025
B
= 1 18, 025, 425
T AT
= 1 74, 656, 450
— R
= 1 13, 003, 550
TS
= 1 87, 660, 000
THEBLFH Y %H
= 1 8, 766, 000
TH#&G
= 1 96, 426, 000
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